28.8 40.5 41.0 22.1 21.2 12.5 21.6 17.4 34.6 40.6 41.0 1.1
20.2 20.3 20.5 20.5 20.0 14.6 20.3 20.3 20.5 20.5
0, 28.0 0, 39.7 0 40.p 0, 21.3 O._‘ 04 1.7 0 20.8 0 16.6 0 33.8 39.8 40.p 0 10.3 0.4
/ e > / >
7 12.45
7 12.05 11.59 7 12.05 7 12.05
2.8% 3.0% 3.0% 3.0% 3.0% 3.2% I - S f 2.9% 3.0% 3.0% 3.0% 3.0% T |
| _12.00 _—
11.65 11.57 11.65 11.59 11.65 11.59 11.50 11.88 11.80 11.50
11.59 11.43 11.64 7 .77 11.50 11.40 11.65 11.59 11.65 11.59 11.62 \V/ 11.65
11.59 11.59
DL=9.00m DL=9.00m
300400 300600 VU 300 300400 300400 ©300 300500 ‘ 300600 300400
A-2 A-2 ‘ A-2 ‘ A-2 A-3 ‘ A-4 A-2
13.9 12.8 15.4
0 13.1 0, 0 12.0 04 0, 14.6 0.4
»> p> =
i\ o
i Qe
V 12.45 7 12.33 7 12.33 7 12.33
_—
| —
/_12.05 /_12.01 7 _11.88 /| 87 11.83
DL=9.00m DL=9.00m DL=9.00m
300400 300300 300400
A-2 A-1 A-2
26.9 34.3 14.8 26.9 34.2 14.9 3.0 26.9 10.4
1.0 30.3 .9 30.3 6.5 8.4 0, 26.1 0. 51.1 0.4
0.4 26.1 0. 33.5 0. 14.0 0.4 0.4 26.1 . 33.5 14.0 0. [0.4 21.2 5.3 24.5 ]
r T T 1 r T L) T T 1
/ /) /) e / R / o8
& &
YV 12.25 7 12.25 WV 12.25 7/ 12.25 WV 12.25 7 12.25
| 2.9% 3T% I 3.0% 3.0 H Z.5% l 3.0% i i =R i
2.8% T T
=L 1165 711855 /| 11.752 11.746 11.80 1855 /]| I 1.8 /) 1055 /|
7 11.248 11.75 11.30 11.34 11.774 11.855 11.777 11.775 11.855
11.791
11.170 8/ 11.793
DL=9.00m DL=9.00m DL=9.00m
300>1000 3 OXGiO 300><500 300><900 300><400 3 Oxsio 300><400 300><500] 300><400 300><400
A-8 ‘A—A‘ A-3 A-7 A-2 ‘A{i‘ A-2 ‘ A-3 ‘ A-2 ‘ A-2
82.0
0.4 81.2 0.4
N\’ w\,
/7 12.27 7 12.15
= il —
‘ 11.97 11.806/ ||
DL=9.00m ‘ H=1 100
V=1 500
300400 WU 300 ‘ ‘ ‘ ‘ ‘ ‘ ‘




